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QUESTION 1
What is a restricted measure?

A. A measure that cannot be referenced by a calculated column.

B. A measure that can only be displayed by those with necessary privileges.
C. A measure that is filtered by one or more attribute values.

D. A measure that can be consumed by a CUBE and not a DIMENSION.

Answer: C

QUESTION 2

Referring to the diagram, which privileges would a user require to view United States data when
guerying the CUBE calculation view?

o
f

CUBE Calculation Not secured
View with with Analytic
Attribute Country Privileges
DIMENSION
Calculation View Secured
. with with Analytic
Attribute Countr Privileges

A. A SELECT privilege on the CUBE calculation view and an Analytic Privilege (Country = United
States) on the DIMENSION calculation view

B. SELECT privileges and Analytic Privileges (Country = United States) on both views

C. A SELECT privilege and an Analytic Privilege (Country = United States) on the DIMENSION
calculation view

D. A SELECT privilege and an Analytic Privilege (Country = United States) on the CUBE calculation
view

Answer: A

QUESTION 3
Why does SAP issue warnings about the use of imperative or procedural SQLScript statements?

They could modify the database.

They call multiple processing engines.

They introduce potential security risks.

They can limit parallelization of query execution.
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Answer: C

QUESTION 4
Why would you create a multistore table?

To implement a table that combines the features of row and column store

To enable partitioning of the table across different storage tiers

To improve read performance when the table is accessed by simultaneous applications
To evenly distribute the data across all available server nodes

00>

Answer: B

QUESTION 5

Which of the following approaches might improve the performance of joins in a CUBE calculation
view?
Note: There are 2 correct answers to this question.

Use an inner join

Limit the number of joined columns
Specify the join cardinality

Define join direction in a full outer join

00>

Answer: BC

QUESTION 6

You have imported a new calculation view in a folder that contains an .hdinamespace file. This
calculation view consumes one data source, which is a table. When trying to build the calculation
view, the build fails with a namespace-related issue. What could be the reason?

Note: There are 2 correct answers to this question.

A. The imported calculation view and its data source have different namespaces.
B

The namespace used within the calculation view to reference the table is different from the actual
namespace in the identifier of this table.

C. The Hdinamespace specifies "sub-folder":"append"”, so calculation views can only be created in
subfolders.

D. An Hdinamespace file is defined in the SRC folder that specifies a different namespace property
than the one in the identifier of the calculation view.

Answer: AB

QUESTION 7
Why would you use the Transparent Filter property in a calculation view?

A. To avoid columns being unnecessarily used in an aggregation
B. To include columns that are NOT requested by a query

C. To apply filters that are hidden from the end user

D. To allow filter push-down in stacked calculation views

Answer: D
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QUESTION 8

You define a hierarchy in a calculation view.

You want to expose the hierarchy to SQL Which of the following conditions must be met?
Note: There are 2 correct answers to this question.

The hierarchy must be defined in a calculation view of type SQL ACCESS ONLY.
The hierarchy must be exposed by a calculation view of type CUBE with star join.
The hierarchy must be a local hierarchy.

The hierarchy must be a shared hierarchy.
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Answer: BD

QUESTION 9
Why do you use parameter mapping in a calculation view?
Note: There are 2 correct answers to this question.

To convert the data types of input parameters

To assign variables to one or more attributes

To push down filters to the lowest level calculation views
To pass variable values to external value help views

00>

Answer: CD

QUESTION 10

After importing a project in the workspace of the SAP Web IDE, you execute a build at the HDB
module level.

The build fails. What could be the reason?

Note: There are 2 correct answers to this question.

You have not defined the HDI build plug-in version.

Your HDB module references a user-provided service that does not exist.
You have not assigned the project to a space.

You have not built the project yet.

00>

Answer: BC
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